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A professional soccer player succeeds in scoring a goal on 84% of his penalty kicks. Assume
that the success of each kick is independent.

(a) In a series of games, what is theémbabiiity that the first time he fail$yo score a goal is on
his fifth penalty kick? P ¥y l-p=. 1L
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(b) What is the probability that he scores on S or fewer of his next 10 penalty kicks?

Biaomil Scling X2 4 goals Scoced 2849 Fp2.ll

g P(x45)z binomedt (10,.84,5)5.03 = 1.3
VMV n2 1o wl\m: nzlo, Pz rq, Yz S
SV

(¢) Suppose that our soccer player is out of action with an injury for several weeks. When he
returns, he only scores on 5 of his next 10 penalty kicks. Is this evidence that his success
rate 1s now less than 84%7 Explain.
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